Math 2431 – 100
Summer 2012 – Test 2
NO electronic devices may be used during the test. Show all work in Blue Book. Please label work.

Answers without any work or explanation may receive only partial credit or no credit at all.

1. (7 pts each) Find the derivative of the following:
a. 
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d. 
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f. 
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2. (8 pts each) Find the second derivative of the following:
a. 
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b. 
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3. (7 pts) Find the equation of the tangent line to 
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4. (7 pts) A particle moves according to a law of motion
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. When is the particle at rest?
5. (7 pts) Use a linear approximation to find the best estimate of 
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6. (7 pts) Find the equation of the line normal to 
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7. (7 pts) Find interval(s) on which 
[image: image17.wmf](

)

32

321

fxxxx

=++-

 is decreasing.
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